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Code No.
. Wiemdl B8 B FR-GRe® S J&-IS
Roll No. W 3raeg ford |

Candidates must write the Code on
the title page of the answer-book.

o Fug Sig W o 5 3@ gw-w F gfid 7= 19 ¥ |

o YH-TF ¥ e ¥ & N T M He T H BH IUW-IPEH & [E-yB W TG |
o FUN Y H A 5 3@ wA-w H 23 W ¥

o FHUAl WY & I Tor@T Y& w4 A TR, U @ wHiG @y @ |

o 3T YW-T K g & fau 15 e & wHF fe@ w2 | gH-9F & A qatg #

10.15 &9 fo&ar Swm | 10.15 990 ¥ 10.30 a0 9% B had YE-UF & N 3R
39 oy & N F IW-YReaE W AR IW A foan |

e Please check that this question paper contains 19 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

GECIEIES |

ACCOUNTANCY
frefRa wog - 3 v SifeFan 37 : 80
Time allowed : 3 hours Maximum Marks : 80
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g 389 :
(i) T FI-UT AT A AR R - & @ R T
(i) 97T % gt B % T a8
(iii)  gOemEEr & 9T 4T & IR T X FF E YT & FAT B
(Gv) &G 997 & G4 9 & I TF & @ W fREw |

General Instructions :

(i)  This question paper contains three parts A, B and C.
(1t) Part A is compulsory for all candidates.

(11i) Candidates can attempt only one part of the remaining parts
B and C.

(iv) All parts of the questions should be attempted at one place.

AT &
(THHNT T, WEERl ®wul qen &ufal & e dEisa)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. 3 & YBa & ER W 9=’ ad fiw-gw § =R Farky | 1
Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

2. e UH HvS TN F YIH AR & 159 o uw fAfved R & 3mew @ar §, @
ET & Fof VW W A F e ¥q F1 @Y g ? 1

If a fixed amount is withdrawn on 15% day of every month of a
calendar year, for what period will the interest on total amount
withdrawn be calculated ?

3. UF ¢ RN §N U T & G @ & AU SiNeH I % $RUT A I
FIT | 1

State the reason of contributing for goodwill by a new partner at the time
of his admission.
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4. WRER 7 gEed B % faved ¥ orm W FE s fag I |

Give any one point of distinction between dissolution of partnership
and dissolution of partnership firm.

5. ‘HY-fee = F= 31d Ber § 2

What is meant by ‘Over-Subscription’ ?

6. frafafed @7 ¥ 31.3.2011 & T gL a8 & faw == & U & T
T

9 H W@ 9= ;¥ 2,85,000.

31.3.2011 & 3€d =<7 : T 9,000.

31.3.2011 & M o == : T 7,000.

1.4.2010 I 3T F=7 : T 12,000.

1.4.2010 & W W@ =<7 : % 8,000 3
Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information :

Subscriptions received during the year : ¥ 2,85,000.

Subscriptions outstanding as on 31.3.2011 : T 9,000.

Subscriptions received in advance as on 31.3.2011 : T 7,000.

Subscriptions outstanding as on 1.4.2010 : ¥ 12,000.

Subscriptions received in advance as on 1.4.2010 : ¥ 8,000.

7. U fa 3 9 A § 75,00,000 F TR F HF T 1 T UM B 50% FHRIA
. . 30 o U w fafea @ S WieR & T S 39 ur 9w e
a1 WY A F PEE T 10 TS & THar i, R 25% & ey W fifa
fovam w1, & g fHAr A

IRH AeAl & fou T, fa. @ e § stavas s sfafvat @S | 3

X Ltd. purchased machinery for ¥ 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of ¥ 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these
transactions.
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8.

fosa @sft fa. 4 % 100 &% & 10,000, 12% FoTH, &= ¥ 70 wfa Fom
sifrgn ® i & a1, & o e smt=a e | ol i &1 e sfeed
T HET o7 |

13,500 FOTHE & AU @S W gL | 3,500 HUGE & fAu smeed @ | W
fear T qur sveed UMY Aftg A & T | WY STETH H KO H e A
fean man |

fosmr orslt fa. & gl § ST aFel & AU TavEs UserTdr wafgdr ST |

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%
Debentures of T 100 each at alpremium of ¥ 70 per Debenture. The
full amount was payable on application.

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions.

T AT WY TH FH H GECR 9 S 53 % U H @ sied o | 1.4.2010
S Rl G e WeR off g T 80,000 9E W T 1,00,000. 37 ST
W 12% @ af & W F qU WO W 15% T g H W F AN A H;
fofa faram | 31.3.2011 &I ¥ gU &Y & foT IWe o wORSEl € 0@ wH
H AT T 14,040 A | T F IRA W dAq WY & IEOT FAIE T 6,000 TGl
10,000 & | 37O UTAS H WY A GL G TN G F AN-F faFESH
AT R FT | wH A @i g @ e F off O | e fer smom |

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh T 80,000
and Ramesh ¥ 1,00,000. They agreed to allow interest on capital
@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were ¥ 6,000 and ¥ 10,000 respectively. Showing your
calculations clearly, prepare Profit and Loss Appropriation Account of
Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.
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12. fafafed oFeHl & fou Sodew fa. & (e # steavas UsHAmr wfafsal
FHIfeT

(i) %100 &% F 9,500, 10% FOTGE & MET 3% T 100 IAF & THaT 39

H oftafda =& fmar m=n | guan i @ e 5% &% S W fEm

(i) % 100 Y& & 440, 10% FOGH & WEH T 50 IAF & AC 12% RO
¥ ufEafdd & e T | AT wuE &1 10% fueny w fpifaa fean
|

Pass necessary Journal Entries for the following transactions in the
books of Fairdeals Ltd :

(1) Redeemed 9,500, 10% Debentures of ¥ 100 each by converting the
same into Equity Shares of ¥ 100 each. The Equity Shares were
issued at a discount of 5%. '

(i1) Converted 440, 10% Debentures of T 100 each into new 12%
Debentures of T 50 each. The new Debentures were issued at a
premium of 10%.

13. U 9 ¥, TH BH & WIER 4 T4 3: 2% U H @ ded o | 31.3.2011
9 feafa foewor fm waR o1 ¢

31.3.2011 &I Wi, den &I, & fegfa faawo

_ qfsr ‘ qfn
gt 4 gufat 4
‘iTrfT : it 80,000
9. ¥ 80,000 5 T wed 80,000 ~
. : 70,000 1,50,000 | ¥ 60,000
SRR 50,000 | STCR 40,000
Frar afagfd ffa 80,000 | 9% 20,000
2,80,000 2,80,000
1.4.2011 & & &1 faged @ w1 qa gfdl vd Qs & feare fEEr

g3l .
(i) o’ 4 94 U@ ¥aq & A qUf e &9 H o form |
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(i) o 7 =% F T 50,000 § o HI fowar |

(iii) ymfoTe g FOT T 5,000 F |
(iv) @fd ¥ g8 & 7 T8 gam |

(v) et afagfa S@r 2 80,000 o1 |
T & O & fAU smEvEs UsHmen safEEr SN |

P and Q were partners in a firm sharing profits in the ratio of 3 : 2.

On 31.3.2011 their Balance Sheet was as follows :

Balance Sheet of P and Q as on 31.3.2011

Amount Amount

Liabilities 4 Assets 3
Capitals : Goodwill 80,000
P: T 80,000 Land and Building| 80,000
Q : ¥ 70,000 1,50,000 | Stock 60,000
Creditors 50,000 | Debtors 40,000
Workmen Compensation Fund 80,000 | Bank 20,000
2,80,000 2,80,000

The firm was dissolved on 1.4.2011 and the Assets and Liabilities were

settled as follows :

(i) Creditors agreed to take over Land & Building at a valuation of

their full claim.

(i1)  Stock was taken over by Q at ¥ 50,000 for cash.

(iii) Bad debts proved ¥ 5,000.

(1iv) Goodwill was found valueless.

(v)  Workmen compensation claim was ¥ 80,000.

Pass necessary Journal Entries for dissolution of the firm.
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14. 31.3.2011 & FM@ g o & fau REfas w@ & o @ yad

frfafaa @
31.3.2011 &1 TUE §C 9¥ @& Wid U PO T
_aH
. afer
Bllispl T
I I AT 9,700 | 3 (Fad 8 WA & TAH) 12,000
R 23,700 | f&an 5,600
EEMENE 12,300 | forsielt (37t a9 & faw 2 400 wfnfad) | 4,400
<A 8,300 | fiféT Tar Rl 900
gt 1 foRara 2,900 | T 41,000
(X 900 ard a¥ 2011 — 12)
fraet @ faswg 15,400 | 9% TR S (31.10.2010 &) 4,000
(T 4o T 16,000)
Y I A T 4,400
72,300 72,300
SWH W T4 P VI F TEEar & 3 T FF Gl IR HIW | 6

Following is the Receipts and Payments Account of Shivalik Club for the

year ended 31.3.2011 :

Receipts and Payments Account for the year ended 31.3.2011

Dr. Cr.
Amount Amount
Receipts g Payments %
To Balance b/d 9,700 | By Salaries 12,000
(paid for 8 months only)
To Subscriptions 23,700 | By Rent 5,600
To Entrance Fees 12,300 | By Electricity (includes 4,400
¥ 400 for next year)
To Donations 8,300 | By Printing and Stationery 900
To Hall Rent 2,900 | By Books 41,000
(X 900 for the year 2011 —12)
To Sale of Investments 15,400 | By 9% Fixed Deposit 4,000
(Book value ¥ 16,000) (on 31.10.2010)
By Balance c/d 4,400
72,300 72,300

Prepare Income and Expenditure Account from the above Receipts and

Payments Account.
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15, THY. 791 9. UH G F GRER 4 9 2 1% A H AW ded 4 |
31 7 2011 & 37 fRafs faawor f1=1 w@r o -

31.3.2011 & TEM, 4T A3, &1 feuta faawor

afer ' qfar

gdrd Z gt 2
g WU & AT W 250 | U%g 18,250
feferer &ieR 59,000 | SR 15,000
EGIRGIGEE LG 32,000
T, - T27,000 9 wd e 30,000
ag. ;18,000 45,000 | @rS-gI QT 9,000
1,04,250 1,04,250

1 389 2011 & frefafad vaf W SE. & 9@er a9 T

) 33iW%W?M,OOO@WWW%W?G,OOOWW
HAN, THHT HGT 9 THY, q9r 9. A o |

(@) T & fovg &4 &% UH g4 & G9EA 8, 39 AU T 1,500 F TEEH
T2

(M) faeel =@ F T 1,300 F TS o @ o A e o, see fau el
TEUH HEAT 7 |

(F) dfew BN & fAT SRR & 5% F IR YEEH F 8 |

() faftm oFerdl # wfinfaa 2 1,200 3 T WS F P G FET BN, I
TH eufefEd & @ |

SARE TARESHI % UvEd SE. & sl & MER W T, a4 a. & g &
AR ffd SER Y% AR 9ar Jhe H PIAH Fh FA 8 |

TcE @, wEe % O @) qu e @ fefy faawr dan #if

Agdar
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X and Y were partners sharing profits in the ratio of 2

: 1. Their

Balance Sheet as on 315 March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

Amount Amount

Liabilities 3 Assets 4
Provision for bad debts 250 | Cash 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : _ Stock 32,000
T 27,000 Land and Building 30,000
T 18,000 45,000 | Profit and Loss Account 9,000
1,04,250 1,04,250

Z was admitted to the partnership with effect from 15t April 2011 on
the following terms :

(a)

(b)

(c)

(d)

(e)

He will bring ¥ 15,000 as his capital for one-fourth share and
pay T 6,000 for goodwill, half of which was to be withdrawn by X
and Y.

There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

A bill for T 1,300 for electric charges has been omitted, now it is
to be provided for.

A provision of 5% on Debtors was to be created for doubtful
debts.

Included in Sundry Creditors was an item of ¥ 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.
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R, M and L were partners in a firm sharing profits in the ratio of
5:3 :2 Partner R died on 20 February 2011. The Balance Sheet

of the firm on that date was as follows :

Amount Amount
Liabilities % Assets 4
Capitals : Machinery 41,000
R : ¥ 12,000 Furniture 6,000
M : T 16,000 Stock 9,000
L: ¥ 10,000 38,000 | Debtors 15,000 -
Loan from R 7,000 | Cash 3,000
General Reserve 20,000 } Profit and Loss Account 10,000
Creditors 19,000
84,000 84,000

According to the Partnership Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(i) Balance in Capital Account;

(ii)  His share in profit/loss on revaluation of assets and reassessment

of liabilities which were as follows :
(a) Machinery is revalued at ¥ 45,000 and furniture at ¥ 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii) The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’s A/c and the Balance Sheet of L. and M who decided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners.
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Gupta Ltd. invited applications for issuing 30,000 Equity Shares of ¥ 1
each at a premium of ¥ 30 per share. The amount was payable as
follows :

On Application ¥ 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)

On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited -
shares, 4,000 shares were re-issued, including all the shares of
Girdhar at ¥ 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.

OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application ¥ 4 per share
On Allotment ¥ 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.
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IR
(fa<itg faawon &1 fagerwom)

PART B
(Financial Statements Analysis)

17. IRR & fou fadg faawol & v & 9w & 3w i |

State the significance of analysis of financial statements to the
‘creditors’. ‘

18. U%E ¥aE fgeur &l daR SaT €, Seoi@ HI | 1

State why a cash flow statement is prepared.

19, U%E qEIHN F F AW A § 2 1
What is meant by Cash Equivalents ?

20. S f. & =g YA 3-5 : 1 9% el UG 15 : 12 | AR R FW
yafafe & S arel =e e @wa guka ¥ % 60,000 s &, @ =
grgfaal a1 =Ie] QA & MUl HINT | 3

7 Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1.5 : 1. If the
excess of current assets over quick assets as represented by stock is
Z 60,000, calculate current assets and current liabilities.

21. frefafea guar @ frfafea § ¥ 6= g srquml &t o SN
(F) FU-HHA A
(@) FEYE dS eEd S
(M R W/ I |

qar

o

T W gSt % 5,50,000; WE H§9F X 50,000; ATH-gI GRT HX A A
I % @1 T 1,50,000; 9% FO9F T 2,00,000; SR T 1,00,000; 4fH T4 4
Z 6,50,000; 3T T 1,50,000; 7SR T 1,45,000; I&E T 55,000 &1 TR

=g T 50,000.

31.3.2011 # ¥ §C I & fau fawa T 15,00,000 A1 41 50% F F [T

fam T ar | 4
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From the following information, calculate
ratios :

(a) Debt-Equity Ratio;
(b) Working Capital Turnover Ratio;
(c) Return on Investment.

Information :

Equity Share Capital ¥ 5,50,000; General Reserve ¥ 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
Z 2,00,000; Creditors T 1,00,000; Land and Building ¥ 6,50,000;
Equipments ¥ 1,50,000; Debtors T 1,45,000; Cash T 55,000 and
Preliminary Expenses T 50,000.

Sales for the year ended 31.3.2011 was ¥ 15,00,000 and Tax paid
50%. :

29, fyefafgd a1 fgetor ¥ 31.3.2011 & T g a9 & fAU 74 fd. & & 97
HN N T fgawor Far FST

31.3.2011 = UMW gC a9 & fau s fa. &1 e faavor

foaroT RURYS
z
5
EER 30,00,000
T A 20,000
ESUIE 30,20,000
ki
I T WA AN 20,50,000
EEIEE R 40,000
$oT = 20,90,000
L 2,25,000
67/2/1 16
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From the following Income Statement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

Income Statement of Jagat Ltd. for the year ended 31.3.2011

Particulars Amount
4
Income :
Sales 30,00,000 |
Other Incomes 20,000
Total Income 30,20,000
Expenses :
Cost of goods sold 20,50,000
Operating Expenses 40,000
Total Expenses 20,90,000
Tax 2,25,000

23. 31.3.2010 1 31.3.2011 & S.3R. fa. & fFfafeg fufd foamoll § doe v

foazor dam #fST -
31.3.2010 @& 31.3.2011 & AW, fa. & fearfa faawon
31.3.2010 31.3.2011 31.3.2010 | 31.3.2011
AT z 2 HHgfar 2 z
o 39 gt | 4,00,000 | 6,00,000 | THE 50,000 | 45,000
AR WA | 1,00,000 | 2,00,000 | 7T 6,00,000 | 6,00,000
d% 0T 2,00,000 | 1,00,000 | f&% — | 75,000
Tt e 80,000 60,000 | STER 2,00,000 | 2,55,000
HTEEH 40,000 | 70,000 | ©lH 10,000 15,000
TTRR 60,000 | 45,000 | 1%S 20,000 | 85,000
8,80,000 | 10,75,000 8,80,000 |10,75,000
37t qa-r
a9 § % 75,000 % 99 F wF fRA | 9eq & fawa | T 5,000 F A T
999 W % 12,000 T qoIg™E A T4 | 6
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From the following Balance Sheets of J.R. Ltd. as on 31.3.2010 and

31.3.2011, prepare a Cash Flow Statement :

Balance Sheets of J.R. Ltd. as on 31.3.2010 and 31.3.2011

31.3.2010| 31.3.2011 31.3.2010 | 31.3.2011
Liabilities 3 4 Assets 4 K4
Equity Share Capital 4,00,000 | 6,00,000 | Patents 50,000 45,000
Profit and Loss Account | 1,00,000 | 2,00,000 | Building 6,00,000 | 6,00,000
Bank Loan 2,00,000 | 1,00,000 | Investments — 75,000
Proposed Dividend 80,000 60,000 | Debtors 2,00,000 | 2,55,000
Provision for tax 40,000 70,000 | Stock 10,000 15,000
Creditors 60,000 45,000 | Cash 20,000 85,000

8,80,000 {10,75,000 8,80,000 |10,75,000

Additional Information :

During the year Building costing ¥ 75,000 was purchased. Loss on
Sale of Building was ¥ 5,000. Depreciation charged on Building was

% 12,000.

17.

T

(tfvanfaa sraies)

PART C
(Computerised Accounting)

FPE{Hd AWIHT T & HCH I § ?

What are the components of computerised accounting system ?

18.

frdt @Y F oTEfEd BT F U ¥ TS 3% N fhge wfafafaeE g 8 ? 1

What is represented by ‘fifth’ to ‘seventh’ digit of the code allotted to

an account ?

19.

“TEIEROT & A IeYT § 2

What is the purpose of ‘normalisation’ ?

67/2/1
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20. T Freded AEET Geam F g ovael i gaese |

Explain the security features of a computerised accounting software.

21. 5% & 9T SUCy €H.UH.TY. G9ead & 919 FaRT | SLAund. & fEE
a9 ol &t guig SIS |

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

22. THUE-UHRE ¥ IO 9 & T FH F AT FHG F =0 # fafey |

Write the steps of a query to compute transport allowance in
MS-Access.

23. (%) frfafed gaa1 & 76mE w0 & U A WA FE F AU TeE |OsEd
AT FSET | T 1,00,000 F g da9 9% 10% H X F, T 1,00,000 §
e &t e W 20% F W T | (YA daT 2§ wafe)
(@ T & 39 fodia # (M) w1 AW S gL wHemse S U fafEm e
TAHH oI & FeAE H GHEA @ | 6
(@) From the following information, calculate the formula on Excel
for computing the amount of Dearness Allowance. When basic pay

is up to T 1,00,000, @ 10%; for more than ¥ 1,00,000 @ 20% (Basic
pay is projected in C2).

(b) Name and explain the financial function of Excel which explains
returns of the present value of an investment.

67/21 19 1,750
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